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The y component

: is a constant.
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P 7 The x component
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value of x.
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The y component
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value of x.
(a) D, = S.UJ (3.0) dA = 9.D[dA.

dA = dAi.
,, @, = (9.0 N/C)(4.0 m2) = 36 N-m?/C.
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i q = +5e

0P = (epe  (Gauss’ law).
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= 1.10 x 10-* N/C. (Answer)
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Q = —16e
R =10 cm.
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(Gauss’ law).

5(1.60 x 1077 C)

" 4a(8.85 x 102 CYN - m?)(0.0600 m)?

=2.00 x 10~® N/C.

( Answer)
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surface K y E

3.0x1 + 4.0

®, = (9.0 N/C)(4.0 m?) = 36 N -m?/C.

E.’C
P 7 The x component
x=1.0m x=3.0m  depends on the
value of x.

(a) 0P = (epe  (Gauss’ law).
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